EEEREEEER EEEEEEREER
EEEERR EEEERER
[ J | | N |
[ f | | N |
X | [ B |
I N |
[ J | | N |
[ | [ |
| [ |
BB MEERR
(HFR4=FE118)
E_ NS e A L] -
mE R - I ST ::
HE R
| HR
HER HR




%
%
o N o 0o ~ W N

& 9
&1 0
Zh1
& 2
E11 3
& 4

&1 5

BSBHEEIRR

><\

BSBWHEERT (118%)

><\

BSWHEERT (11BH

><\

RBEWALRR (BR:TI37)

><\

LBCSHAEERRT (118H0

><\

RBECSHFELIRNR (AR T32)
LBHETCSHELOMEEH (1185

BEMRRIBESHIEEN (118K

EMRBISEHBIEEH (118K

STESH

SETREE

SIBEDRIFADECRBEHOHER

SEHBSHDEFH (118X

HETAR « ERBRIFEEIRNR (118H)

BisAl « BRI « SHEERERIFRERR (118X




T B B MR £ KR (BH1)

1 28 - PEHSE - SREDESH (118X)

2EOREY | PESEOREN | BREOREH
SH4F11ARK 2,330 187 14
SA3F11AXR 2,352 166 18
SREN -22 21 -4
IR -0.9% 12.7% -22.2%
2 ESHAEERR (118D)
O % & #f M 64 #F  AENLL 3 # ( -45% )
OR & X OA  BEIESIL -3 A ( -1000% )
OElEBEY 7N EVESIL 8 A ( -533%
OBIEEY 67 A AL 12 A ( 218% )
3 HUBHOKR (118%) (13 # 14 A )
(1) EEEBIFEEAFL
Be | 88 [rovs] ses|ase | zom] &t
SH4El 3 1 2 @) 5 2 13
SH3F 4 9 3 @) 1 1 18
(2) FEHIRDEERRA (3) FHERIEEH
cxns| 2 [zot] i 15auT] BE | 20k ahE
SH4E 4 9 @) 13 =45 O 1 7 6
SH3EF 4 14 @) 18 [HO3F| 1 1 5 11
(4) IRAEBIFEE 2
S5 | B6E | s | DEP| 2om] 5t
SR4El 2 @) 11 @) 1 14
SH3Fl 9 O 8 1 @) 18
(6) BRIBBIALEMS BE 6 mE  (H
O~68|6~1285| 12~188| 18~2485|| =
SH4E| 3 2 5 3 13
SH3EF 1 5 6 6 18
6) 51 BBEDEHER
sy B85 |2ot|ans] 78 | it
=4E| O 2 7 4 O 13
SH3Fl O 2 12 4 @) 18
(7) SETBONR  AFE A AWE 11 A
7 BRI o« JREERI
B [ & | &t B | B8 | seg | 20m] :
HH4El 3 3 6 H[4FE| 2 @) 3 1 6
LH3F| 6 5 11 SH3F| 8 O 3 O 11




RBERHELERR (118P) (Bp2)
1 RERR
1ETR O EBRpUAR
=] P P I =n| BY i =5
A\ [T | OB mean maas N e e T e
45 64 O 7 67 45 40 O 24 O 64 O
3% (Y4 3 15 55 3 43 1 24 2 67 3
E@® | o] o] 8] 12 Ee&] 5| 1] O] 2] o] 3
YR [-4.5%|-1000%|-5633%|21.8% SR [-7.0%| -1000%| 0.0% | -1000%| -4.5%(-1000%
)8 (X)) BIRBHMFELEINT
B | B8z | 85 | BN | BT |=mau| KF | BE | 2R || &5
45 16 2 @) 2 9 2 22 5 1 5 o4
REHH| 35 24 1 1 3 15 1 18 1 2 1 o7
18 -8 1 -1 -1 -6 1 4 4 -1 4 -3
A5 O O @) 0O O O O O O O O
BEH | 3% O O (@) O (@) 1 1 O 1 O 3
I8 O 0O @) 0O @) -1 -1 O -1 O -3
45 20 2 (@) 2 10 2 25 5 2 6 74
aEgsYN| 35 27 1 1 3 16 1 17 1 1 2 70
1B -7 1 -1 -1 -6 1 8 4 1 4 4
2 BRIREHEHNUEER
e \
5% i _E’i =5 B8 |marE| swE | ZoME 5t
45 19 3 28 8 2 4 64
FEHH 3% 24 1 24 9 O 9 o7
1B -5 2 4 -1 2 -5 -3
45 O] O O O 0] O 0]
EH 34 1 O 2 O O O 3
1B -1 O -2 O 0] O -3
3 TR OARERISEE E
X215 |16~ |25~ |30~ [40~ |50~ (60~ | 65 o = sz | =n
JRBE M| 2am| oom| som| aom| som| eam| wr| TO B Ff|RAEE &
BEEEird
_bREn@Eer
BlEEP
B#zsEMAD
s 3 B 2
ZDM (SA468E) 1
8 5t 3
B Ok =
21 =3 2 1 3
4 FRUEBWCRITDHE 1 BBBEDTMRI SR OIRRER R
X2 115m |16~ |25~ |30~ [40~ |50~ (60~ | 65 A = i
JRABE MF| 2am| 20m| som| aom| som| eam| | TB [ Ef|EAEE &
B#EEird 3
bR Een
BérsEAD
ZDM (SAR68E)
S B S
G
] = 1 1 1 3




RESEHAENRRT (11 BX) (BR3)
1 FHEIRR 2 BBRIFEEHENOEEE
S|t | S| mwen| wmen o~ _F&E%E s |rws| mwa| zomn| a3t
45 (542 14 [ 93 | 532 45 1139 221212120 4| 45542
3% [ 555 181119 [ 500 ey 34 [ 145 16 [ 198 [ 145 1 50 [| 555
ERIE| -13 -4 | -26| 32 BRI -6 6 14 | -25 3 5 -13
IR | -2.3%| -22.2%| -21.8%| 6.4% 45 4 5 1 2 0 21 14
sgxg| 6351192 | 113 630 BEH| 3IF 4 1 9 3 0] 1 18
IERIEN 0] 4 -8 -1 0] 1 -4
3 F (X RIREBNEEING
SH | B | B0 | BN | B |zaxw| XF | B8 | Bk |[aRK| 55
45 | 151 8 4 10 105 13| 182] 33 14 22| 542
FRAHE 3% | 167 8 6 9l 92 19| 198 31 8 17| 555
R -16 0] -2 1 13 -6| -16 2 6 5| -13
4 3 0] (@] 0] 1 1 2 3 1 3 14
=g 35 4 0] (@] 0] 3 3 3 3 1 1 18
IEREN -1 0] (@] 0] -2 -2 -1 0] 0] 2 -4
4% | 183 10 6 10 119 14| 211 34 14 24| 625
BI5BH 3% | 188 10 7 9| 101 211 2191 31 8| 25| 619
IEREN -5 0] -1 1 18 -7 -8 3 6 -1 6
4  BRIFEEING
18| 2B | 3B 4B | 58| 6B | 7B | 88| 98 |108|118(1 28| &5
HE 49| 39| 53| 42| 56| 48| 47| 42| 47| 55| 64 542
B 1 2 2 2 1 1 2 3 14
858/ 60| 41 59 44| 68| 54| 52| 55| 51 67| 74 625
5 Skl ROYARERIDIEE N
X% [15% |16~ [25~ |30~ [40~ [50~ |60~ | 65#% e |
yRBE MR 24| 29om| 39m| 49m| 5om| e64m| WME B3 | SEf MR
SEJEPE-tIua) 1 1 1 2 3 8|57.1% 5
ZbREREendp 1 2 3|21.4% 3
HFEP 0.0%
BersEAD 0.0%
s 17 B 2 2143% 9
Z0its (S7F68) 1 1171% 1
=] st 1 1 2 1 1 2 6 14[1000%] 18
B O K |00%|71%|7.1%|(143%| 7.1%| 7.1%| 14.3%|42.9%| 0.0%|[100.0%
D] = 1 1 2 1 2 11 18
6 HUESHICHRITDEN BEBOFERISOIARERIEEL
XD|15%% |16~ (25~ [30~ [40~ |50~ |60~ | 65 ~ = i D
IRBE M| 2am| oom| zom| aom| som| eam| wr| T T SF|WPE(R
SEJEPESTun) 2 1 2 1 2 3 11|846%| 16
—REREEr 1 77% 2
BérsEAD 0.0%
Z0t (ST 1 117.7%
= 5t 2 2 2 1 2 4 13[1000%| 18
B OB X |0.0%|154%|0.0%|15.4%|15.4%| 7. 7%| 15.4%| 30.8%| 0.0%||100.0%
D] =3 2 2 5 2 2 4 1 18




700

600

500

400

300

200

100

RBEWREERNT (BRK:T037) (Bp4)
1 HERR
RAEHE =g BEBHN HIEBH
#% A A
22 150 700
2% 100 | 19 680
18 — I
555 600
512 — 18 r [ ] 120 } f 113 532
16 _ — 500
i 500 } —
14 93
e % |
12 400 }
10 T 300 |
60 |
8
6 200 }
4 30 }
100 |
2
: : o : : o : : 0 : :
B4 EDIIESET BH4EDIIESETY BH4E BFSE S5ETY BH4EDTBESETY

2 FPhRERIFEEEDINR

+ SR4F11AXR

+SH3F11AXR

10
9
8
7
6
5 5
N |
, A
L LA &K X A
, M 1.0 2020 A M
BE BxX BB AN BS BHEAL XF BB 2R &R
S | B | 8558 | 5N | BF |=sAu| KF | B8 | Bk |5 &5
SH4EFE11BKR| 3 1 1 2 3 1 3 14
SHNI3F11/AXR| 4 3 3 3 3 1 1 18




STERTEHREERR (1155 (&@H5)
AFE (134 14X ) (BUEEEDHER 181 18N )
N IGE) — N T IGE)
SR 3 231%| 3N 214%] 11 1Al & R i ottt 462%| 6A 429%)111E 11 A
5 3k 231%[ A 214%] 4 4N B C T 538%| SA 574%| TH  TA
EER B iz B 4 308%| 4N 286%| 4t 4 A
EREE] B i B 3 231%] 3A 214%] 3 3A
= " i) N BE =] 3t 231%| 3A 214%] 3t 3A
Bl B & 1 77%| 1A 71%| 3t 3A| B K B B 2k 2N
SN 11 77%| 1A 71%] 3t 3A|[ B A & B 1M 77%| 1A 71%] 1% 1A
X F 21 154%| 2A 143%] 3 3 A v B2 B 1 77% AN T7A%) 4% 4N
B B 21 154%| 3A 214%| 3t 3A T i B 11 77%| 2N 143%] 1 1A
2 IR 1 7.7% 1A 71%| 1 1A & @ 2 & P | SA 57.1%|3%D 5A|ame
5 = B B8 B Z - BV &8s | 3A 214%|00ts 3A |t
5 = & | 5F ssou| 5 o 1# 1A E & W B E D Al 1A
& i 3t 231%| 4N 286%] At 4N g | B & B X B P - -
s [ 35 os | 14 7.7%] 1A 71%] 1 1Al = % 17 B DA 143% oA
Al 8 =& 1 77%| A 71%] O 9A zZof (SR:E) | 1A71%
hETE 2 154%| 2A 143%| 3 3A 15 &% M F 55 1A
Z D ot 154%| 2A 143%] 1 1A 55 INFEE ®rE 1A
RERN e SHA | 44 308%| SA 357%| 4 4N 4t
8 TEAN | 4 s08%| 5A 57| 4tE 4A 28 (16~24%) 1A 71% 1A
2 TEAIE [55 20~24
W/i BRGNS 6t 462%| BN 429%] 8 SA 25 ~ 29 =& 1A 71% @A
21 BpEH—T 3 231%| 3A 214%] 61t 6A 30 = 2N 143% e BN
B Ot o 40 ® 1A 71% an| 1A
A |uEEEETD 21 2N 50 N 1A 71%
i |BEDhE—-®) 1 77%| 1A 7T1%| 3 3A 60 ~ 64 & 2N 143% @l 2A] @no
= [EEoE—8| 1 77%] 1A T1%| 1 1A = 5 = o L BN 429% o [TT A o0
W=zom 3 SA|l = 55 Bo@eny 3A @ | 24
INET O 154%| 2L 143%] Off OA|| # ER e TA
= &z o 154%| 2N 143%] 14 1Al B BooED
N Y 2ff 2/ B EoEEh
@ EERG 21 154%] 3A 214%] 21 2A HIE 2N a0 | 8A| @so
al B B = >5 W8 EEEhn NS
Bl =Zowm Brh (G—74) AN @mol BA] ao
INgt 414 308%| SA 357%| 5t BA B (E—18) IPNECSS
B @ & Ja T 538%| TA 500%| 4 4N Z D 1 3A| @
TES Z0ft [ 1A
N ng =] A 10A 714% 16A
g 3 & R i L= B8 4N 286% 2N
5 R/ B 13 M B {3 14 AN 1000% 13A
BEe 2 E 1M 1A Bl g % 5A
B A OE B 15 m M~
Ba@TmB| 2 154%] 3N 214% =% (16~248%) 2UF 154% 21
5 [BUISTENBE] 2 154%] 2A 143% [35 20~24 14F
wl =B F B 1M 1A 25 ~ 29 % 14
R . |7 u-uRte] THE 538%| TA 500%) 2 20| = 30 N 2 154% 24
2 [Fnris 5f 5A — [_40 R | 2fF oa% 5fF
Al g [@Bre = 50 R TH 77% oFF
% [RErER 3 _GA| £ [ 60 ~ 64 m | of oax of
;ﬁ LZERE| 2 154%| 2A 143%] 1 1A & 65 m M E 4 308% 44
S N i x 5
Z DM 0E R PPN ig = E n Off 692% 171
EE 1 1A ) I A 308% 14
00~02 1 7.7%| 2N 143% S N
02~04 M 77%| 1A 71% ‘ B [ 13 1000% 144F
04~06 T 77%)| A 7% 1 T~ " 7z " 41
06~08 1M 1A R
08~10 21 154%| 2A 143%] 2 2A
g 10~12 EN
21 10~14 1 77%| 1A 71%| 3 3A
14~16 3 231%| 3A 214%| 3 3A
16~18 1M 77%| 1A 71%
18~20 5 5A
20~22 1M 77%| 1A 71%
22~24 2 154%| 2A 143%] 114 1A




LBIEESBAEENRR (BXR:J37)

1 ERIRIHH
BHAF| BHO3F
SR 3 1
5 B 3 4
I
s
Pl
ES 1 3
Z B AU 1 3
KX F 2 3
ICR 2 3
=R 1 1
=l 13 18
2 BRI
BH4E| BI3E
SR8
BSE 5 1
8 3 4
g 8 1 9
B A8 2 3
Z it 2 1
& 5t 13| 18
3 EBIRBIHEL
BSR4 BRSHE
RERSE 4 4
BB R 6 8
Bh-7 3 6
ZDH
g 5t 13| 18
4 SHZETRIHE
BHAE| BHN3F
A X & @ 2 9
& W8 R 4 5
Bl SR 7 4
XyHIEs
A B3
5 3 13| 18

(BR6)
1t o548 ODH3EF
5
4 L —

3 I— — — — — —
2 -
| i)
O Zer mm B2 B =6 B3 =gAl X7 B8 B
[as o545 oDH3EF
10
8
6
4
; Jﬂ ollm
@]
SR8 B8%8 ESpE] B8  ThErshE  Zoft
1 o545 OoSH3H
10
8
6
4 -
; JT
0]
RERE BIRBEIR pEN-7 Z it
&S 0G5 45  0OBI3F
10
8
6
4
2
0]
AXTEE BmER ===kl xi5IEs




5 SHRAERIHH

(1) AX{EmEHN " oS4  oDH3E
SHAE| BFI3E 4
NE - EBEGD 2 3
BEhE—-®] 1 3 f
B hE—~® 1 1 I:I_|
< D 3 © W@ e RERCP Z0tt
g > o) 5w BB ®&—®
Tats
2 @EEB
2= iME SH3F e G5F4E O0DIHIF
IF & & 2© 2 1 3
+t = L) 38 2
G hE B 2 D 2
B = 1
Z D
& &t 4 5 0
TEEZE S0E B Bz Z0ftt
6 JRRERIFEEE
SH4E| SH3E A onH4EF OTHN3EF
Ba)&,8érp 8 5 10
B= - =fhE&D 3 3 8
BWmEEDP 1 6 r
BErsBEMAD 4
s 17 B 2 9 2 r I I
Z0f (SR8) 1 0 - S— - =
—— B8 Sl BEP anE  H65 20
& &t 14| 18 B T mED (=788)
e
7 BRERIMEE
BRH4E ODRIE
SH4E| SH3F p— . . . .
Es® ki
SR Sl
=5k B 1 BReXRE —
BRI E BUTER
Bhanhs| 2 5B (TS [—
BESHB0E| 2 BT EYE [—
— A= 1 —BREILE —
T 7 ) A e —————
& |womm 5 £ s :
I E DH T
i ZERER 3 5 zerwR .
% ZEBE 2 1 = e
Z il B Zots
ZOHNDER 4 Py .
X 68 ] =
35 =T 13| 18 —]




8 BRI

f 0SH4E  0RN3E
SHAE| SH03F .
00~02 1
02~04 1 5| _
04~06 1 1
06~08 1 4t
08~10 2 2
10~12 > 3t -
12~14 1 3 , |
14~16 3|3
16~18 1 .l
15~20 51| (L AT TR COFTLORE LR | {1
20~22 L © oz 46 810  12- 16- 20-
22~24 2 1 2-4 6-8 10- 14 14- 18 18- 22 22-
/Ifl\ g_i_ 13 18 12 16 20 24
O EBWaHE
BSH4% 0934
i R ry I— |
B & 6 11
" B 7 7 @@L—
5 &f 13| 18 O 1 2 3 4 5 6 7 8 9 10 11 12
10 EBRIMAHE
i 0SH4E  O0SH3E
DIAEF| HFIEF
= 4| 4 5
A 3 3 4 _
W 3 3 3
K 2
X 1 1 2t
= T 4 N H
I 1
& &t | 13] 18 0 LI M
8 B W 7K PN & +
11 FEERIFEEBE
A 0545 oOBF3IF
BAF| HBHIF 12
15 m M _F 1 ol 2
16 ~ 24 &% 1 1
25 ~ 29 | 1 81
30 (R 2 2 6
40 NI 1 4l
50 K1 o
60 ~ 64 2 2
Olmiim a1 m
65 ﬁ J:\/{ L 6 i ° 15m% 16 25 30 40 50 60 657
8 &t 14| 18 MF o~ ~ ® £ ®r ~  BE

24 29 64




12 G5mMUEIRRRRISEE

A o545 [=E=yiIc):d

O

8 L

6 L

4t

dils

0 D O
SEIE = i) Bér& HITE ZDih
pE=L:ua] BiY [SE:=al FEMAD (BA68)

pEEus]

BG5R04 5 D%KDSEF*I

12 14 16 18

BL45 O[3

12 14 16 18

H* 0545 0FHN3F
6
5 —
4
3
2 -
1 - [ H_‘
' ai il

15 16 25 30 40 50 60 ©5m A8
MF o~ ~ f N " ~  BE
24 29 64

B BH4E 0BR3E

A8
#0 2 4 6 8 10 12 14 16 18

DHAF| BHIF
BEEEEP| 3| 2
8= - RIY&E&D 1
EFIEELY
ECEETEEY
5 & B 2| 8
20t 1
=l 6| 11
13 BUBIFEH
DH4E | HH3F
ES 14| 13
g 5
S st | 14] 18
14 B - RHBIEEM
BHA4F| BH3F
2 ®m | 10| 16
B o 4l o
S st | 14] 18
15 1 8BS
(1) sl
DHAF| BHI3F
15 & bl T
16 ~24m o] 0
25 ~ 20 & 1
30 k2] 2
40 R 2] 5
50 R_1] 2
60 ~64m 2| 0
65 m bl E| 4| 4
x 5
S &t | 13] 18
(2) BzE
DH4E | HHN3F
B 13| 14
Z 4
L
S ¢ 13| 18
(3) B - BAELER
DHAF| BHIF
N ol 17
55 4l 1
T o
S st | 13] 18

. . . . . . Il%%MIfE D%IimS*il
Sy [ .
LEBIN
B8

#0 2 4 6 8 10 12 14 16 18




—_—
AN

X

BIECEHEOMBEEH (1187

ENT7)

HH4F118308 Rt

HEA AO REAELEFRB flafor BN [=fv]
1 =] 1053815452838 300 12
2 SER™ 186,045|5MW4F9RB208 71 19
3 J \S8H] 15356(5 #1588 9B 1,209 6
41 Bkl 2,661 |21 F 11848 4,774 1
5 SEEL] 6,116|% 157 K48 1,245 5
6| BHEH 1588054568218 162 15
7| =% STTT|ERK29F 12898 1,817 3
8| RBgmh 452275 W3 F108 88 418 8
O JesREy 1390845458888 114 16
10 Z@W 157635 W4 F9B9B 82 17
11 AWET 14,774|5%3F 118308 365 10
12 SN 354351 HF108228 1,135 7
13 KFH 146,148|- M4 518188 316 11
14 F8E 1006654598118 80 18
15 =E™ 321195 MW4EF5818B 213 13
16 BEW 10,354 |%f3F 1135288 367 9
17 JIRE 25071 EmR2457H108 3,795 2
18 BErH] 2, /90| 31 F18148 1,416 4
19 Brat] 3974|4558 168 198 14
AOEGE 543,615 A

ADE. BH4F1081BIREDHSTAD

SIREEN SREOHFTAD (k) | D'5351H




}wEeEaNmERxx®B3®HN®BEHR (11 X)) (BRS)
SAHAF118X
11H01H ~ 30H 01H01H ~ 11H30H
! fgiﬁ A | B | HEER | A s
X\ g R E[] PR | PR I i T
) [[=Riva AR BT R BT
AL 8 8 0 0.0 57 54 3 5.6
i B AE 1 5 -4 -80.0 7 17 -10 -58.8
. JE )T 2 1 1| 100.0 21 16 5 31.3
i Sl 0 — 18 17 I 5.9
ol EA) 2 1 1 100.0 6 6 0 0.0
Eil 13 15 -2 -13.3 109 5 110 -1 27 —0.9 27
o % 2 7 -5  -71.4 27 34 26 1 20 3.8 19
wlE F 4 4 0 0.0 30 28 30 0 23 0.0 23
H W 5 5 0 0.0 32 26 40 -8 39]  -20.0 41
W 1 1 0 0.0 26 36 26 0 23 0.0 23
th JE 4 1 3] 300.0 23 40 20 3 15 15.0 9
Il & B 7 5 2 40.0 41 20 45 —4 31 -8.9 30
B 23 23 0 0.0 179 187 -8 - -4.3
S 11 12 -1 -8.3 116 3 112 4 12 3.6 20
KUk 13 4 9] 225.0 77 9 67 10 5 14.9 10
RN 5 5 0 0.0 48 17 50 -2 29 —4.0 28
B RE B 7 1 6l  600.0 41 20 45 —4 31 -8.9 30
% E 9 9 0 0.0 95 8 105 -10 43 -9.5 32
T % 12 13 -1 -7.7 112 4 107 5 11 4.7 17
)l 16 14 2 14.3 101 7 126 -25 46]  -19.8 40
L) 9 5 4 80.0 57 15 44 13 3 29.5 5
I 1 3 -2l -66.7 23 40 30 —7 38] -23.3 43
WLE ¥ 3 6 -3 -50.0 43 19 41 2 18 4.9 16
[t 11 12 -1 -8.3 73 10 84 -11 44 -13.1 36
B 86 72 14 19.4 670 699 -29 —1.1
g 1l 1 1 — 29 30 28 1 20 3.6 20
LA 1 4 -3 -75.0 20 42 21 -1 27 -4.8 29
fm 1 6 -5 -83.3 26 36 25 1 20 4.0 18
57 B 8 5 3 60.0 67 11 55 12 4 21.8 7
= A 13 19 -6|  -31.6 124 2 106 18 1 17.0 8
wl = & 5 5 0 0.0 53 16 53 0 23 0.0 23
& 29 39 -10] -25.6 319 288 31 - 10.8
& A 4 2 2] 100.0 35 24 32 3 15 9.4 13
Ul IS 4 4 0 0.0 40 22 46 —6 371 -13.0 35
xX_Bx 13 9 4 44 .4 128 1 124 4 12 3.2 22
fo i 9 11 -2l -18.2 109 5 99 10 5 10.1 12
= B 5 2 3] 150.0 28 32 32 —4 31] -12.5 34
=2 IR 3 2 1 50.0 20 42 29 -9 421 -31.0 46
B 38 30 ] 26.7 360 362 -2 - 0.6
B 4 -4] -100.0 14 47 18 —4 31 -22.2 42
e B 2 1 1| 100.0 15 46 9 6 10 66.7 1
] L 5 5 0 0.0 65 12 50 15 2 30.0 4
Nl 6 1 5] 500.0 64 14 60 4 12 6.7 15
ITE 2 3 -1 -33.3 29 30 29 0 23 0.0 23
& 15 14 1 7.1 187 166 21 - 12.7
= 2 2 0 0.0 19 44 30 -11 44]  -36.7 47
mi#E J 1 1 0 0.0 26 36 34 -8 39] -23.5 44
= 3 8 -5]  -62.5 40 22 45 -5 35]  -11.1 33
= & 2 2 — 25 39 22 3 15 13.6 11
B 8 11 -3 -27.3 110 131 21 | -16.0
&[] 10 10 0 0.0 65 12 94 -29 471 -30.9 45
e 8 2 2 0 0.0 18 45 21 -3 30]  -14.3 37
I E % 4 2 2l 100.0 27 34 25 2 18 8.0 14
E K 1 4 -3 -75.0 45 18 35 10 5 28.6 6
X 3 6 -3 -50.0 28 32 33 -5 35| -15.2 38
B IR 5 4 1 25.0 30 28 23 7 9 30.4 3
IS 3 5 -2 -40.0 35 24 43 -8 39] -18.6 39
ThfE 1 2 -1 -50.0 32 26 23 9 8 39.1 2
g 29 35 -6 -17.1 280 - 297 -17 5.7
&5 252 251 1 0.4] 2,330 2,352 —22 -0.9




e v 8 /il & & &R (11 B X ) EHD
HA4FE11 8K
11H01H ~ 30H 01H0IH ~ 11H30H
% %B )é N Elgl\ I 2 Eé\ s RN
IZ: yﬁ [/‘R ZIKEE‘ ﬁ”ﬁz ta{ﬁz}& iaﬁii ZKQE‘ JILE\ ﬁl HUQE‘ i%{&;ﬁ IIIE ,ﬁlz %v&%—i IIIE ,ﬁlz
T 4 7 -3] -42.9 33 35 -2 -5.7
1 B fiE 5 -5| -100.0 3 11 -8 -72.7
i JIE I 2 2 — 10 10 0 0.0
e | 3 % 0 — 12 15 -3 -20.0
el EAT) 1 1 0 0.0 1 4 =3 ~75.0
B 7 13 6| -46.2 59 3 75 -16 16] -21.3 40
i i 2 5 -3 -60.0 14 39 19 -5 35| -26.3 41
Wl E F 3 4 -1 -25.0 20 25 21 -1 22 -4.8 24
=R 3 3 0 0.0 15 37 23 -8 41 -34.8 44
B _H 1 1 0 0.0 18 31 21 -3 29]  -14.3 34
I 3 1 2] 200.0 16 35 13 3 10 23.1 10
| & 5 2 5 -3 -60.0 25 21 28 -3 29 -10.7 30
B 14 19 5| -26.3 108 125 -17 - -13.6
iR 6 4 2] 50.0 46 7 51 -5 35 -9.8 29
Kk 6 2 4] 200.0 40 10 38 2 13 5.3 13
R 4 3 1] 33.3 34 15 26 8 4 30.8 5
BB B 5 1 4] 400.0 28 19 30 -2 26 —6.7 28
W 6 9 -3| -33.3 61 1 64 -3 29 —4.7 23
T 7 9 -2 -22.2 54 5 68 -14 451 -20.6 39
)] 3 4 -1 -25.0 35 14 59 -24 471 -40.7 46
B 7 5 2] 40.0 39 11 25 14 1 56.0 2
MEY 1 -1] -100.0 12 11 141 -2 26] -14.3 34
WLE T 2 3 -1 -33.3 24 23 24 0 17 0.0 17
fif [i] 8 8 0 0.0 45 8 44 1 14 2.3 16
B 48 45 3 6.7 372 392 -20 - —5.1
Il 1 1 — 18 31 18 0 17 0.0 17
FE 1 2 -1 -50.0 12 11 12 0 17 0.0 17
& I 5 -5| -100.0 19 27 15 4 8 26.7 9
g7 B 6 4 2] 50.0 43 9 33 10 2 30.3 7
= H 10 14 -4 -28.6 59 3 69 -10 44 -14.5 36
W =& 4 3 1| 333 34 15 35 -1 22 -2.9 22
B 22 28 6] -21.4 185 - 182 3 1.6
A 2 2 0 0.0 22 24 16 6 7 37.5 3
il IR 3 2 1 50.0 25 21 22 3 10 13.6 12
PN 6 5 1l 20.0 51 6 59 -8 41 -13.6 31
L i 5 8 -3| -37.5 60 2 63 -3 29 -4.8 24
= B 3 1 2] 200.0 13 40 19 —6 39]  -31.6 42
e | Foak gl 2 1 1] 100.0 12 41 20 -8 411 -40.0 45
B 21 19 2] 10.5 183 - 199 -16 -8.0
B 3 =3[ -100.0 6 47 11 -5 35]  -45.5 47
PLE R 2 1 1| 100.0 11 44 3 8 4] 266.7 1
] L 5 5 0 0.0 39 11 30 9 3 30.0 8
N 0 — 34 15 33 1 14 3.0 15
LIS 1 1 — 19 27 16 3 10 18.8 11
£ 3 9 -1 -11.1 109 93 16 17.2
[l 2 1 1| 100.0 15 37 16 -1 22 —6.3 27
Wi#E Ji 0 — 16 35 20 —4 34 -20.0 37
=% 1 5 -4 -80.0 29 18 29 0 17 0.0 17
5 Al 2 2 — 19 27 19 0 17 0.0 17
£ 5 6 -1 -16.7 79 84 -5 —6.0
&[] 8 5 3] 60.0 38 13 44 —6 39]  -13.6 32
= B 2 1 1] 100.0 10 45 15 -5 35| -33.3 43
| E 3 1 2] 200.0 18 31 19 -1 22 -5.3 26
BE R 1 -1] -100.0 26 20 19 7 6 36.8 4
X o 3 5 -2 -40.0 20 25 19 1 14 5.3 13
=Ry 4 4 0 0.0 17 34 13 4 8 30.8 5
I (EELR 2 3 -1 -33.3 19 27 22 -3 29|  -13.6 32
A 1 -1] -100.0 8 46 10 -2 26]  -20.0 37
&t 22 21 1 4.8 156 - 161 -5 -3.1
N 153 164 -11] -6.7 1,297 1,362 —65 —4.8




S 17 &8 83 MW (BR10)
1 RBBHWEEIRNT (118 K ) 2 RBBWEEINR (118 o)
P NEH | BEEN P HEH | BEEN
SRAGF 71 2 70 SHAGF 6 0 6
S 96 9 89 S 11 2 9
S =25 =7 190 TR 5 2 3
1@ 260% | -778% | 213% TR “455% | -1000% | -33.3%
X BAEMHESETENED - EEMCT. REHBESHIHTPOED
3 BBl (%0
18| 2B | BB | 4B | 5B | 68| 7B | 88| 9B 1081181 28] &3
SH4E | 10 | 4 8 7 6 3 5 6 6 10 71
I3 7 18 | 7 7 10 | 7 7 7 4 1| 11 96
4 BRI (D
O~2|2~4|4~6|6~8|8~10|10~12|12~14|14~16|16~18| 18~20|20~22|22~24| &%
R4 0 0 2 3 8 4 9 4 17 | 16 | 7 1 71
HEEE | 00% | 00% | 2.8% | 42% |11.3%| 56% |12.7%| 56% |239%|225%| 9.9% | 1.4% ||[1000%
5 BRERFIARI EFEEHD 6 BRI (XD
P FERR P AR
RERE 39 54.9% Ba 13 183%
N 15 211% =T 26 36.6%
Z Dt 17 239% N ES 32 451%
3 = 71 100.0% S 71 T00.0%
7 SRR (HED 8 BBhonikE Gred)
P AR B RERLR alsE | BmE
@B 3 4.2% 50mI R 0 00% 6 86%
EmaT 6 85% 100mBT~ 1 50.0% 9 12.9%
| BWISE | 26 36.6% 500mB~ 1 50.0% 14 20.0%
W | mersaanE 3 42% 1,000mIU T 0 0.0% 11 15.7%
DI Zofs 10 141% 2,000mI T~ 0 0.0% 7 10.0%
AR 4 56% 2,000mBLE 0 00% 23 329%
Z Dt 19 26.8% BB NAE 0 00% 0 0.0%
EE 71 100.0% Szt 2 T00.0% 70 T00.0%
9O EhER BEES) . _
el e | ¥ | & |ga| £ | =% g |l 2 | o
s |5 | 2| o a1 1% %E;] Bl S| = ﬁgjﬁf;f = | ©
ElElr | Bl B2 pe| v w2 |xagl B
18 Za) & wr | wig | & | ol 0 5l O o
5 e 1@ I
e 1 1 [14%]| 1 2
NS 2 2 |28%| 4 6
Pt 00%| 2 2
BIRE 00% | 1 1
ZOMER | 1 1 2 |28%]| 33 || 35
SHE 1 1 2 1 1 6 |83%| 20 || 26
a3 2 1 2 1 3 2 11 [163%] 61 | 72
EBRICEDZEHRE|182%] 9.1% |182%| 9.1% - - - |27.3%|18.2%
10 PiERIREEINR
Bl | B% | BE | &N | 25 |20 X7 | BE | 2k | 82 || &8
T 27 1 1 2 12 1 22 | 4 1 o || 71
ET 1 0 0 0 0 0 1 0 0 0 2
aEE8 | 27 1 1 2 12 1 21 4 1 o [ 70




B @& 2 B & &R11)
1 @BWEERR (118 X ) 2 BEBEEEIRR (118 ©)
- e 1 REH | assy
BI4E 81 0 79 BR4F 11 0 10
SF3EF 74 0 70 SHIF 8 0 8
e 7 0 9 = e 3 0 2
JE)ES 95% - 12.9% LB 375% - 250%
X RAMHHRIEERENEN SBWT. EEHAEERIBGEREPDOED
3 BB (HE0
18 28| 3848 | 58|68 | 78| 88| 98 108118128 &3
BI4E 3 3 9 4 8 10 7 6 9 11 11 81
BFIEFE 11 5 3 6 5 12 4 6 8 6 8 74
4 B5R3BI (EED
O~2|2~4|4~6|6~8|8~10[10~12|12~14[14~16|16~18| 18~20[20~22| 22~24( &F
BI4E 0 0 0 7 20 8 11 5 13 10 7 0 81
B 0.0% | 0.0% | 0.0% | 86% [24.7%| 99% [13.6%| 6.2% [16.0%|12.3%| 86% | 0.0% [[1000%
5 ERIABI HED 6 BIERI (HED
H# B H# B
TESE 63 778% ] 16 198%
EN 17 21.0% BiE 37 457%
Z0it 1 1.2% BT ES 28 34.6%
& it 81 100.0% & =t 31 100.0%
7 SRR (HEHD 8 BEBNH5DiEEE GEEE)
% AR s DS alEs S
EELESUIN 2 25% 50mIM T 0 - 0 0.0%
& | EBER 0 0.0% 100mIU T 0 - 4 51%
@l B 2 25% 500mM T 0 - 13 16.5%
B HENE 47 580% 1,000mIM TR 0 - 19 24.1%
Bl =om 30 37.0% 2,000mIM T~ 0 - 14 17.7%
S 0 0.0% 2,000mM E 0 - 29 36.7%
w60 0 0.0% SAEARAE 0 - 0 0.0%
&3 31 100.0% B3 0 - 79 100.0%
9 EBER (BLEE)
- . 33 G . [ Z - 2|l -
7 | x |a2 |5 la x| 2| & al= B35 = .
18 ) =~ | B & = = %) el v .
+ = ol
%=
EES 1 1 13 1 2
chZpt 1 1 2 25 5 7
SR 1 3 2 6 76 | 11 17
Z Dt D 4 2 3 2 11 [ 139 27 || 38
SHhE 2 1 2 5 63 | 10 15
&% 2 1 5 7 8 2 25 [ 316 54 || 79
Ericav3EmE| 80% | 4.0% [20.0%]|28.0%| 0.0% | 0.0% | 0.0% |32.0%| 8.0%
10 FPAlERIFEINT
El [ BR[| B[ an [ a5 [2eru] XF [ B8 | 2R | =& || &3
% 28 0 0 0 11 1 34 7 0 0 81
& 0 0 0 0 0 0 0 0 0 0 0
S 28 0 0 0 11 1 32 7 0 0 79




BB DRI ADETBERDWE

Em

1 SEBEAD - SHBERTADDHR (AOISF1081BIREDHESTAD)

2)

ToAE

PO5E

FOGE

POTE

POSIE

PO

P304

BITE

R2F

B3F

i &

at

167197

161,774

166,084

169,439

171,530

173,562

175,389

176,499

177,046

177914

RBRR

27.0%

28.0%

28.9%

297%

30.1%

30.7%

31.3%

31.8%

32.0%

32.4%

o>

B ¥

100

103

106

108

109

110

112

112

113

113

A O

581,870

577642

574,022

570,188

569,579

565,233

560517

555,663

5563,407|548,562

0|

i &

74,823

80,882

86,272

90,002

93,560

96,748

99,960

102,240

104,701

107,008

LS

19.5%

21.0%

224%

234%

244%

253%

26.3%

27.0%

27.8%

285%

B ¥

0> ¥

100

108

115

120

125

129

134

137

140

143

ERFAD

384,555

385,325

385,210

384,310

383,244

381,741

380,226

378,123

376,582

375,058

2 SEESHDHER

(U320, EFx24FDOSEEZ100& UIZFRIFEE, )

(5%

160

. 4

140

SHEEEH

120

100 r

80

60
BEEE 1 SERENY /‘\\4*
40
EHalEsEy
20 : : : : : : : : :
245 Y255 J2eH% WE27H W28F Y2O0F FI0F H[iE B2E H3HE
2atf | 25% | 26% | 27 | 28% | 20 | 30% | wuE | 2% | 3% |, fo.

[ RER® | 248 250 | 241 | 250 | 242 | 226 | 220 242 | 177 181 143
5| [ | 17.9%| 195%| 206%| 237%| 24.5%| 234%| 25.3%| 30.1%| 282%| 29.3%| 26.4%
s| [#=m| 100] 101 or| 101| o8| 91| so| e8| 71| 73
=l mzsn | 16| 11| 20| 21| 11| 17 s| 20 sl 11 6
D) [ vmw | 53:3% | 44.0%| 58.8%| 55.3% | 64.79% | 65.4%| 40.0% | 64.5% | 47.1%| 57.9% | 42.9%
# [ ®| 100| 69| 125| 131| 69| 106| 50| 125| 50| 69
S| &mB% | 262 | 277 | 266 | 217 | 224 | 220| 192 | 188| 130| 138| 96
2| [Em% [168%|171%|183%|17.4%| 180%| 189%| 187%| 196%| 17.4%| 19.9%| 164%
8 [ m| 100| 106| o8| 83| 85| 84| 73| 72| 50| 53
| REFE (1,389 [1,280 [1,168 [1,053 | 987 | 965 | 869 | 805 | 628 | 618 | 542
s ®ma% | 30| 25| 34| 38| 17| 26| 20| 31| 17| 19| 14
B aEER (1,658 (1,619 [1,396 |1,250 |1,243 |1,162 |1,029 | 957 | 749| 694 | 625

CI. SHESHORELHRNL. SHENE 1 BBBOE. FIEBHISHBENIEE LIEALD




SHEEEHORE (11 BX) (BER13)
1T B BBIHAREERR
(1) BERR (2) ISHRBISEIEEE
rn | weu | ass B BRE
ag | 143 6 | o6 ma | 22 [216%
sg | 167 | 11 [ 117 ga | 45 [441%
ggm| 24 | 5 | -2 mariE 18 | 17.6%
sk |-14.4%|-455%|-17.9% zom| 17 [ 167%
i REIMIE, BIHENS1 SFEOENR 83t | 102 [ 1000%
IS ERABIE DTS LA
(3) PERISEIZEH
i | Bz | mm o | i | oBs (AW xF | ms | BR | mE | ot
SEE 1 1 1 2 1 (S)
aiEEH| 33 4 21 2 27 5 1 3 96
(4) BRIBESEH
0O—2|2—4|4—6|6—8|8—10|10-12|12—14|14—16|16—18| 18—20 | 20—22 | 22—24| &3t
LIBEH 1 5 11 19 16 17 19 9 4 1 102
B 10% | 49% [ 108% | 186% | 157% | 16.7% | 186% | 88% | 39% | 1.0% [ 100.0%
(5) BRAIFEHH
= R
e | 2| - | & | F | ®» | & | =
Sl mn s | 5| | ® |5 |2 |=].
-SRI S T I O I I O I O
o & | & | % |+ | &2 |E|E|"
&} = =
g | 10 | 12 | 8 | 5 | 20 | 15 | 32 | 31 | 10 | 143
BRER | 70% | 84% | 56% | 35% | 140% | 105% | 224% | 21.7% | 7.0% | 100.0%
2 SHERBECSHOBE
(1) BERR (2) LEOREH
TES | e | romas | BOE TEM | s | HOUE
4z | 14 6] 3lazon 45 | 2330] 1297] 557%
sz | 18] 1] 7[e11% 3% | 2352] 1.362] 57.9%
gga | 4] 5] -4 ggu | 22| -65
gk |-20.0%|-455%|-57.1% gk | -09%| -48%

X BRR=5H556E/EEH




(3) HFHhohlEEH

15% | 168~ = 55 || ~-
L\/{—F 24ﬁ %O)ﬁg IEJ@%% 75%;EL\/{J: (] I:I-I_
B 1 7 6 3 14
I 71%| 500%| 42.9%| 50.0%|1000%
(4) FHE—IBFBEDFHpISEUEE
13 2 7 4 2 13
MR 15.4%| 53.8%| 30.8%| 50.0%|/100.0%
IR #
e swes| BE |menes| 85t 10
LER 9 1 4 14 8t
SHEEHHE 2 1 3 6 i
5575 ME 1 2 3 5 | I I—
BRBOBRE | 222%[1000%| 750%| 42.9% 0 -
238 THETH ESH
\ N A DRER oSG
(6) EBREARIEEH (RERIMTEESE) 0
TES | @ | 2om || &3t s |
SEH 5 9 14 6 f
S5Em0E 1 > 3 47
2 L
5575 1 2 3 S [ ]
BEREOERE | 200%| 22.2% 21.4% RER 18 20t
(7) JRRERIFEEH
BaE |a-m6| =m | aas L zom | -
B | @nd | BEe | ®8e | 0P | G | B8
SER 8 3 2 1 14
SHas 3 2 1 6
3575 E 1 1 1 3
BHEOERR | 375% 100.0%|100.0%|| 42.9%
DLEE  0SERE
B#E E#d
BRiY-
Bl [SEs]
BtisE AP
#iFP
20t
(0] 1 2 3 4 5 6 7 8 9 A




(8) BRBISEEH

== el =11 X O RS 0SHE
LEH 6 8 14 10
>HEHE 3 3 6 2
5B 75 E > 1 3 4l
BHEDERE | 500%| 37.5%| 42.9% 2
’ B 7R
(9) HITINRERIFEE
P 985 | 2| st
- | ®-6
<685 1 1
SHEHE 1 1 2
>5H575RME 1 1
BHEORRE |1000% 200.0%
A DR OBHE X nemE omms
2
2
] 1
© m Sl (@)
B NEHE 2ot P P




BRI « ERBRIFEEINT (118X (BR14)
BEE —tE BenE
a3t s | 2o
gme | BEe | #me | pEe | sse | @me
Hla|Slalgla|Slals|la|slalS|la|2lal]la]|d

& & |saz| 14lezs| sless o2| 3|27 79 ol 70| 1| 2
= = g| s 1|10] 1] 5 3 2
B m m|i71| aleoo| 2|90 33| 1] 10 28 1] 30
No@E om| 7 9 6 3

s w gl A 1 1
2 & @ A 1 1
sarml21| 1[28] 1|18 3 3 )
= 5 m| 3 3 1 )

@la s w|eo 64 44 5 6 8 1
1t % amloal 1|20]| 1]22 4 2 1
= m| 3| 1| 3| 1] 2 1
x w |14 17 12 3 1 1

Mz o 10 7 1 1 1
% 7 wlir1| 1 [200 107 31 13 29 1] 20
mowmom| 5| 1| 4 2 2 1
s s m| 33| 3lzsa| 1|18 a|l 2| 4 7 4

sl = w11 12 10 1 1
T om om| 2 2 2
B % m

mom| 1| A 1

= mlis1| sliss| 1|86 0| 1|12 28 1] 27

. B |l 8 10 6 3 1
= @ 4 6 3 2 1

52 pi ;1 10 10 6 2 2
B zlios| 1[11e] 1]s2 12 11 12 )
ZEHE AW 13 1| 14 1 9 3 1 1

B % zlis2| 2211 113 32 13 32 121 +
B El 33 3| 34 1118 4 2 1 7 4

o R sl 14| 1| 1a] 1|12 1 1
=) R®| 22 3| 24 31| 20 3 1




BrigRl « ZRI « BHEERRIREINT (11 8K) (BR15)
= = = ] Epree)
Cle|m|e|x|e Sk | m| = 3 Al B I
Tlmlzlalo|s|f|xelw|w|2|8|8]y
s #|542 ||[151 8 41 10105 13182 | 33| 14| 2271|454 | 17
= it [ M EAE 1 1| 2 a 1| 3| 2| s| 7
=] B &le25|183 | 10 6| 10119 | 14 |211 34| 14| 24 ] 70 |544 | 11
7 5] 46| 14 2] 7] 3l 20 5] 39| 2
o= 114 = 1 1 1
s & =| 55| 18 2 10| 4| 21 5| a8 2
s #® 15 13 2 1 14
202 [® = 1| 1 1
8 s & 20| 18 2 1 19
7 gl 13| 12 1 3| 10
535 114 =]
g & = 17| 14 3 3| 14
s =l 11 11 1 10
1792 |m =
=l s & 11 11 1 10
s e 3 3
1802 |m =
s B = 3 3 3
s | 15 8 7 15
1812 |[m® =
8 s &l 18 10 8 18
s 8| 4 4 2| 2
3132 114 =)
s B B 4 4 2| 2
s | 32 27 5 1 31
4318 [m e 2 2
8 g &l 40 36 4 1 39
7 5
zof % =
s B =
s =\ 4 4 3 1
5 = alw =
s B & 6 6 5| 1
s I BE 1| 18 16| 6
8 -1 B|5E = 5 1 1 3 1 4
s & = 26| 8 18 23| 3
s | 86| 23 1 3] 30 21 16 6 5 T 77 2
T =5 a5 =
=l =l g B104| 30 2 3| 32 21 23 7 5 71 95 2
& 7 wlio6| 22| 4| 1| 1] 22| 5| 44| 6| 1 19 [105| 2
- w8 alx = 1 1 1
s 1, =140 48| 5| 1| 1| 27| 4| 47| 6| 1 19 [120| 1
s 120 || 32 1 3| 21 3| 49| 11 15 1105
B om N EE R 1 2
=l g B135]| 35 1 3] 25 4] 541 13 14 1121
7 w| 25| 12 2 1] 10 5] 5 17| 24| =
z ) ftB] 38 =) 2 1 1 2
s B = 46| 12 2| 1] 10 17| 4 17 27| 2




